Department of Education —Western Province

Second term Test Evaluation -2018

Grade 11 Subject - Science Time — 1 hour

Answer all questions.

In each of the question 1 to 40,Pick one of the alternatives 1,2,3,4 which you consider is
correct or most appropriate.

Mark a cross (x) on the number corresponding to your choice in the answer sheet provided.

01.Fators necessary for photosynthesis are shown in the diagram below. Factors represent by
A ,B,Cand D are,

Light, Oxygen, Carbondioxide, Water
Oxygen, water, Carbondioxide, glucose
Carbondioxide, oxygen, water, glucose
Water, light, oxygen, Carbondioxide

02. Which of the following are granulocytes and non- granulocytes respectively?
1. Neutrophils, Basophils 2. Neutrophils, Eusinophils

3. Monocytes, Basophils 4. Neutrophils, Monocytes

03. What is the most suitable indicator to identify separately two solutions which contains lime juice

and gastric juice?
1. Llitmus papers 2. PH papers 3. Methyl Orange 4. Phenolphthalein
04. Select the answer contains only vector quantities.
1. Distance, Displacement, Speed 2. Displacement, velocity, acceleration
3. Distance, Time, Mass 4. Displacement, Time, Mass
05. Which blood vessel of the human blood circulatory system contains deoxygenated blood?
1. Pulmonary veins 2. . Coronary arteries 3.Pulmonary artery 4. Aorta
06. Which substance may have PH value of 7 ?

1. Acitic acid 2. Ammonia 3. Soap water 4. Ethyl alcohol
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07. Following are some compounds in the human small intestine Lactase, Lactose, Maltase ,Maltose,
Sucrase, Sucrose out of them select the correct enzyme and the substrate respectively.
1. Maltose, Maltase 2. Sucrose , Sucrase 3. Lactase, Lactose 4. Lactose, Lactase
08. Two minutes were taken to lift a cement bag of 50 kg up to 12 m from the ground. What was his
rate of doing work?
1.30Js™ 2.40)s™ 3.50Js™ 4.6000 Js™

09. Select the correct answer related to the process of food digestion.

Organ Type of Enzyme Substrate End Product

1. Pancreas Amylase Protein Polypeptides

2. Salivory gland Ptyalin Starch Maltose

3. Pancreas Pepsin Protein Polypeptides

4. Small intestine | Trypsin Protein Polypeptides
10. Which factor does not affect on rate of a reaction?

1. Surface area of reactants 2. Temperature at which the reaction occurs

3. Concentration of reactant 4. Boiling point of the reactant

11. Which factor/s is/are affected on the friction that act on objet?

a. Weight of the object
b. The nature of the surfaces in contact
c. The area of the surfaces in contact
1. aandb 2.aandc 3.bandc 4.0nlyc

12. Which is the disease that not associated with the blood circulatory system?
1. Hypertension 2. Atherosclerosis 3. Albinism 4. Hypotension
13. The genetic disorder that may occur due to sex linked recessive gene is,
1. Albinism 2. Thalassemia 3. Hemophilia 4. AIDS
14. What is the hormone secreted by pituitary gland that influence the releasing of ovum from the
Ovary ? 1.LH 2. FSH 3. Oestrogen 4. Projesteron
15. A. Styrofoam dissolved in petrol
B. Diluted HCl solution
C. Alchoholic iodine solution
D. Mixture of water and aceton
In wich solutions contain polar solvent and polar solute from above given solutions

1. AandD 2.Aand C 3.Band D 4.Cand D
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16. In which answer does a balanced chemical equation for de composition reaction contain?

1.2 KMnOy4 —— > 2 K;MnO4 + MnO; + 0,
2. Zn + CuSO4 ——— » 7ZnSO4 + Cu
3.2Mg + 2HCI — 5 2 MgCl, + H,

4. 2 H,0, _ 2H,0 + O,

17. Which graph does represent uniform velocity?

Displacement (m) Displacement(m velocity (ms)

1

velocity (ms™)

Time (s) Time (s) Time (s) Time (s)

18. What is the force required for a motor bicycle moving with a mass of 250 Kg and uniform velocity of
12ms™to increase its velocity up to 20ms within 10 secand?
1. 2N 2.120N 3.160N 4.200N
19. People who are living in temperate countries wearing dark cloths and using black colour containers
To cook meals . What is the phenomenon common for above situations.
1. Absorption of thermal radiation 2. Reflection of thermal radiation

3. Convection of thermal radiation 4. Conduction of thermal radiation

20. The amount of heat required to supply to increase the temperature of a piece of copper with the
mass of 150 g from 30° C to 50° C ( Secific heat capacity of copper = 40 Jkg™'K™)
1.300) 2.12001 3.1800 4.2700

21. Which of the following is a compound with ionic bonds?
1. CO, 2. H,0 3. KF

22. What is the gas use to produce margerin?
1.N, 2. H, 3.0, 4. CO,

23. What is the best statement that explain the Avogadro constant well? (H=1, C=12, 0=16, Ag = 108)
1. Amount of atoms contains in 108 g of silver. 2. Amount of atoms contains in 44 g of CO,

3. Amount of atoms contains in 90 g of glucose. 4. Amount of atoms contains in 34 g of ammonium
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24,

30.

31

Which of the following is the best method to prepare sample of oxygen at the laboratory?

1. Heating crystals of potassium permanganate. 2. Electrolyzing of acidulated water

3. Heating the Calsium Carbonate 4. Fractional distillation of condensed air
Below given is a diagram of reflex arc.What are the neurons markas A, Band C

1. Intermediate neuron, motor neuron, sensory neuron

2. Sensory neuron, Intermediate neuron, motor neuron

3. motor neuron, Intermediate neuron, sensory neuron

4. sensory neuron, motor neuron, intermediate neuron,

. What is the required mass of NaOH to prepare 500 ml of NaOH solution with a concentration

of 0.4 moldm® (N=23,0=16,H=1)

1.12.0g 2.80g 3.40¢g 4.100g

. An insect with a mass of 6 g is flown from the flower A to Flower B as given in the

Diagram. What is the change of the potential energy of the insect? ( g=10 ms™)

1. 2x10x6J 2.4x10x6J 3.6/1000x 10x2 J 4.6/1000 x 10 x4 J

. If 5LED lams with 12 W are lighted up for 4 hours , Calculate the quantity of electrical energy

Spent 1. 24 kWh 2.2.4kWh 3.0.24 kWh 4.0.024 kWh

. What is the percentage of parental genotypes received to the F, generationina BB x bb cross?

1.25% 2.50% 3.75% 4.100 %

When considering the efficiency and life time which lamp is most suitable for energy
Conversation?
1. LED lamp 2. Filament Lamp
3. Compact fluorescent light ( C.F.L) 4. Fluorescent lamp
rod

.APVC rod charged by rubbing with polythene is connected to e PVC 80w

the earth through the neon bulb by using a wire. Which of the
following is the correct observation and explanation?
1. The neon bulb lighted up once, electrons flowed from earth to
PVC
Neon bulb lighted up once, electrons flowed from PVC to the
earth
Neon bulb did not light up, electrons did not flow .
Neon bulb did not light up, electrons flowed from PVC rod to the
earth
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32.The homone that prepared the body to activate in an emergency is,
1. Testosterone 2. Oestrogen 3. Adrenaline 4. Glucogen

33. The amount of heat required to convert 1 Kg of water at 100° C in to steam at the same
temperature is,
1. Specific heat capacity of water . 2. Specific latent heat of fusion of ice
3. Boiling point of water 4. Specific latent heat of vaporization of water

34. What is the best method to identify the basic pigments of an ink?
1. Chromatography 2. Solvent extraction 3. Recrystallization 4.Fractional distillation

35. Which answer shows the correct order of the domestic electric circuit?
1. Electric meter, Over load circuit breaker , isolator ,trip switch
2. Over load circuit breaker, Electric meter, isolator, trip switch
3. Over load circuit breaker, isolator, Electric meter, trip switch
4. Isolator, Electric meter, Over load circuit breaker , trip switch
36. Which phenomenon can be explained by using Newton’s third law?
1. Falling a fruit from the tree 2. Motion of the boat to opposite direction of the rowing
3. Falling of passengers to the forward when apply break to the buss
4. Moving of objects in the space v o
37. Weight of 20 N is hung a point A using a rod with 1 m. Find out the —

weight should place at the point B which is 45 cm away from point A
A to balance the rod .
1. 5N 2.60N 3.45N 4.30N

38. When apply a voltage of 12 v to the main lamp of a motor vehicle, a currant of 1.5 A flows
Through it.The power of main lamp of the vehicle is,
1. 18 W 2.12 W 3.15wW 4.8 W

39. What is the organism Which contribute to spread virus “ Nipha” through out the world?
1. Fly 2. Bat 3. Cattle 4. Rabit

40. Which procedure that should be used to reduce non communicable diseases?
1. Increase the consumption of food wich containing saturated fats.
2. Increase the consumption of salt.
3. Increase the consumption of fiber containing foods
4. Increase the body mass by good food habits.
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Department of Education ~Western Province

Second term Test Evaluation -2018

Grade 11 Subject - Science Time — 3 hours

Instructions:

This question paper contains part A and B .Answer all the questions in part A, in the space
provided. Answer only 3 questions in part B. Attach the answer script of part B with part A
and hand over.

Part A

01. Below given is the diagram of human digestive system.
1. Name the relevant parts of the human digestive system in the
diagram.

Write the range of numbers allocated for acid in PH scale and the relevant colour for strong acid.
Range in PH scale
Colour for strong acid

(a) Name suitable antacid that can be used to neutralize the acidity in the stomach.

(b) Complete the below given chemical reaction that occur in above neutralization.
H,0

Below given is a ray diagram obtain from an optical equipment in the dental clinic.

(a) Complete above ray diagram

(b) Write one feature of above

R,

ey
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02. Tissue is one of an organizational level of the multicellular organisms.
Two types of tissues are given in the diagram.
1.
has been modified to perform a function.
(B) Above A and B figures are complex permanent tissues in the

Plant stem. Name them

What is the building unit of nerve tissue of vertebrates?.......c.cccceveieeii i
What is the neuron transmit impulses from central nervous system to effector (muscles).

A
Which tissue is controlled voluntarily and present striation? ........ccccocvvevvvvveceninvivccece e
State a place that tissue “A” CaN DB SEEN. ...t e e e
State the letter of tissue that never become fatigue
State structural similarity and difference between B and C tissues.
Similarity
Differences
Mitosis and meiosis are two types of cell division occurred in the body of organisms. State
relevant instance for each type of cell division .
Meiosis
Mitosis
Below given are two diagram of organelles in a living cell.
What is the function of each organelle

. (A) variation of electronegetivity of some consecutive elements
according to the pauling scale ploted in a graph against

atomic number ( The given letters in the graph are not actual

symbols of elements. use only given letters in the graph) to H

write the answer.

pauling scale
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1. (a) What is the relevant letter of element that having highest electronegetivity?

(c)To which group above element is belong?........cccccveiiiiiiiie i,
2. Write the electronic configuration of element A

3. (a) Build up the chemical formula of compound prepared by C and E

(c) What is the nature of bonds of above compound?...........cccueveiiiiiiiei i,
(B) Below given two diagrams are relevant to the activity of separation of iodine from aqueous iodine

Solution before after

aqueous iodine
solution

Carbon
Tetracloride

What is the laboratory equipment NAMEd @S P ? ..ottt ettt et st e e eas
What is the colour of x layer after the aCtiVity? ...ttt et st
NAME The SUDSTANCE Y. ceeceecee ettt ettt e st steete st st e e s bessesaesssersareetesteseennannanen
What is the name of above method of separation?

Draw Lewis dot and cross diagram of separation.

(a) Calculate the molar mass of CCl,. (c=12 , CI=35.5)

(b) Calculate the number of moles in 77 g of above compound.
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04. Shape of the waves for note C, obtained by the cathode ray

oscilloscope for tuning fork, violin and piano are given in the diagram. /\/f\/\/\ lrJ

wdge

x h
fork

hy

Complete below given table by considering the shape of the wavs afem

1. Which instrument belong to the category of string instrument?

For note C violin

|'

Boamis

Characteristics of sound Equal / not equal

1. Pitch

piano
2. Loudness

3. Quality of sound

The frequency of note C is mentioned as 256 Hz. What does it mean?

State a similarity and dissimilarity between sound wave produced by a violin and radio wave.

(a) similarity (b) dissimilarity

Which phenomenon of light is used when optical fibers are using in communication activity?

Complete the ray diagram for the instance of burning cotton wool by using convex lens

>

<«— Cotton
wool

Write the relevant type of electromagnetic wave that suitable for below given
Tasks. (Micro waves / light waves / x ray / infrared waves / radio waves )

(a) To identify the fracture in the bone

(b) To destroy cancer cell

(c) To send signals from remote controller to television
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Part - B

05.(A) Below given are some microorganisms belongs to different groups.

Define the microorganisms.
(a) which letter represents the autotrophic organisms in above figure?
(b) State a useful product that is produced by using organisms belong to the domain of the organism
named in above Question “a”.
In above given organism shows both living and non living characteristics.
a) State the living characteristics showing by them.
b) What is the disease that cause by an organism which belong to the group of above organism
and spread by mosquitoes?
Name the disease that causes by the type of organism of “y” in above figure and state
which organ system is infected by the disease.

(B) Answer below questions by using only below given words.
( Cycas plant, coconut plant, papaw plant, star fish, tortoise, penguin)

1. (a) State a flowering and non flowering plant out of above given plant.
(b) Classify above given plants by using a dichotomous key.

2. (a) Name homoiothermic animal out of above organisms.

3. (b) State another specific feature of above group of animal.

(C) Below given apparatus is prepared to test the factors need for photosynthesis.
Black paper

C Colourless polythene

Potassium e "".' Water
Hydrocside
solution

Pot with
soil

1. Which factors needed for photosynthesis are tested by A and B respectively?
2. What is the reason for usage of water bath to boil the leaf in alcohol, before it tested for starch?
3. Write the balanced equation for photosynthesis?

(D) Below given is a diagram of alveoli
1. Write a substance that deffuse from alveoli to blood capillaries.

2. State an adaptation of wall of alveoli for efficient gas exchange.
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3. What is the disease cause by abnormal cell growth due to epithelial cells of trachea
exposure to cigarette smoke.

4.Define the anaerobic respiration and state the anaerobic respiration

reaction by word formula that takes place in plants.

06.(A) An apparatus that prepared to produce some gas in given below.

1.What is the gas that can be produced by using this apparatus?
2. What are the A and B chemicals that can be used to produce above

mentioned gas respiratory?

3.What can you say about the solubility of the gas in water that you mentioned above?

4.State 2 instances that above mentioned gas are used.

(B) Part of activity series is given below

1. Which factor is based when preparing this activity series?

2. Name the relevant metals for the places named as 1,2 and 3.

3. Which metal out of 1,2 and 3 is react rapidly with cold water?

4.Write the balanced chemical equation for the reaction of above metal with

water.

(C) During the test of identification of different mixtures , the carbon dioxide gas

was sent in to the cool water in a vessel and it was sealed.

1. Which type of mixture is the above mixture?
2. State an instance that above prepared mixture is used.
3. Write a physical property of carbon dioxide gas.

(D) 1. Write 02 instruments that should be used when prepare a standard solution in the laboratory.
2.Calculate the mole fraction of urea in a solution prepared by mixing 90 g of water (H,O) with
18 g of urea (CO(NH,),).  (H=1, C=12, N=14, 0=16)
4. Define the term Solubility

5. Write a factor that effects on solubility other than temperature.

07.(A) A diagram of a activity done in the laboratory is given below

1. What is the mean by resultant force?

2. Which type of resultant force is tested by the above activity?
3. ltisrequired to apply equal force on Newton balance named as
A and B, what is the reason for that?

4. What is the force should apply on Newton balance named as C to keep the system at equilibrium
when applying 20 N force per each Newton balance A and B
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5. Write 2 instances that couple of forces is acting on
6. Explain the reason for the absence of linear displacement which is subjected to the couple of forces.

(B)The diagram shows the two instances of connecting some amount of air filled balloon to a halfly
water filled “U” tubes. Some pressure is applied in both instances by blowing through the rubber

hose. ( density of water = 1000 Kgm™, g = 10ms™)

Rubber horse

Balloon Rubber horse Balloon Y

=4 Blowing by mouth Blowing by mouth

}1.5 cm

In which balloon has highest pressure out of balloons of A and B diagrams?

Do air pressures at both ends of the “U” tube different or similar?

Find out the air pressure of balloon in “A” diagram, by considering that the air pressure of balloon is
equal to the pressure of water at point “T”

Name two equipments use to measure atmospheric pressure.

Name two instances that apply atmospheric pressure usefully.

08.(A) Below shown are 4 types of underground stems of plant

State relevant letters of underground stems that belong to the ginger and potato.
Name the types of underground stems of B and D
State another function of underground stem in A except vegetative propagation.
. A diagram of nephron is shown below
a) Name A and B in the diagram.
b) State a compound which can be included in A of
a healthy person but cant be included in B. —asn
c) State the structural change shown by afferent Afferent arteriole
arteriole and efferent arteriole for efficient
functioning.

Afferent arteriole

A

Blood capillaries

What is the disease occur in kidney or bladder due to
crystallization of calcium oxalate?
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e) State a good behavior that we should follow to avoid from above disease condition.
(B)The readings for potential difference (v ) were ploted against the current (1) in a graph by a group of

students during the experiment conducted relate to the ohm's law. The graph is shown below.

Potential difference (v)

What is the value of potential difference according to the graph when }

current is 0.6 A? 25
What is the relationship between potential difference and current 2
according to the graph? 15
On reading of this experiment had a fault. What is the value of currant
relevant the fault reading.

Calculate the resistance according to the graph. T o o3 o7 o5 o

Current (A)

What are the factors effect for resistance of conductor?
Colour code of the fixed value resistor is given below. Find out the value of
the resistance of the resister. (Black = 0 ,Brown =1 ,Red = 2 ,Silver = 10%)

A N

09. (A) Substances use in day to day activities are grouped as acid, base and salts. Brown Black Red Silver

Define the term strong base?

PH scale is used to identify acid and base. what is the rang of PH scale for base?

What is the difference between strong acid and weak acid?

How dilute acid is prepared by concentrated acid?

Write the balanced chemical equation of reaction between aques NaOH and dilute HCI.
Write the ion equation for common reaction between acid and base mentioned above.
Write the common term of above reaction. me e

Velocitv ms™
(B) The velocity time graph for the motion of a vehicle is shown

below. 30
. What is the initial velocity of the vehicle? /

What is the deceleration of the vehicle?

What is the nature of the motion between the 10" second
and 25" second?

Find out the dynamic friction, if 150N of force is applied
for the motion occur between 10" and 25" second. o
Find out the displacement of the vehicle during the 25 S to 5 10 15 20 25 30 35 -
35S Time (s)

(C) Two instances of measuring weight of the same object in air and water is given below. The mass

of wooden block is 1.8 Kg.(g = 10ms ™)

1. What is the value of weight of the wooden g :
block mentioned as x in figure? : Je— Newton 5k
2. What is the apparent weight loss of - balance -
wooden block?

Find out the upthrust created by Wooden block . Wooden block
Water on the wooden block. \ ' Water
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